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0
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0
1
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 ∈ S2 (1)とすると ϕ (u, v) =

 su
sv

1− s

で (su)2 +

(sv)2 + (1− s)2 = 1 ⇐⇒
(
u2 + v2 + 1

)
s2 − 2s = 0より、s = 2

u2 + v2 + 1
となる

ψj = ϕ ◦ ∂1j =

 ψj
1

ψj
2

ψj
3

とする

ψ0 (t) =


1− t

t2 − t+ 1
t

t2 − t+ 1

1− 1

t2 − t+ 1

 , ψ1 (t) =


0
2t

t2 + 1

1− 2

t2 + 1

 , ψ2 (t) =


2t

t2 + 1
0

1− 2

t2 + 1

となる
dψ0

1

t2 − 2t

(t2 − t+ 1)2
dt,dψ0

2 = − t2 − 1

(t2 − t+ 1)2
dt,dψ0

3 =
2t− 1

(t2 − t+ 1)2
dtより(

ψ0
)∗
α =

(
1− 2t

(t2 − t+ 1)3
+

(
1

t2 − t+ 1
+ 1

)
2t− 1

(t2 − t+ 1)2

)
dt = 2t− 1

(t2 − t+ 1)2
dtなので

∫
ϕ◦∂1

0 |∆1

α =

∫ 1

0

2t− 1

(t2 − t+ 1)2
dt

=

∫ d
dt

(
− 1

t2 − t+ 1

)
dt

= 0

また dψ1
1 = 0,dψ1

2 =
2
(
1− t2

)
(t2 + 1)2

dt,dψ1
3 =

4t

(t2 + 1)2
dt より、(

ψ1
)∗
α =

4 (t+ 1)

(t2 + 1)2
dt なので、∫

ϕ◦∂1
1 |∆1

ω =

∫ 1

0

4 (t+ 1)

(t2 + 1)2
dt = π

2

dψ2
1 =

2
(
1− t2

)
(t2 + 1)2

dt,dψ2
2 = 0,dψ2

3 =
4t

(t2 + 1)2
dtより (

ψ2
)∗
α =

8t (t+ 1)

(t2 + 1)3
dtより

∫
ϕ◦∂1

2 |∆1

ω =

∫ 1

0

8t (t+ 1)

(t2 + 1)3
dt

= π + 2

以上より、
∫
ϕ|∆2

dω =
π

2
+

7

2
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ψj = ϕ ◦ ∂2j =


ψj
1

ψj
2

ψj
3

ψj
4

とする

ψ0 (t1, t2) = (1− t1 − t2)


cos t1
sin t2
cos t2
sin t2

 , ψ1 (t1, t2) =


0
0
0
0



ψ2 (t1, t2) =


t1
0

t1 cos t2
t1 sin t2

 , ψ3 (t1, t2) =


t1 cos t2
t1 sin t2
t1
0

 より、(
ψ0

)∗
ω = 0,

(
ψ1

)∗
ω = 0 より、

∫
ϕ◦∂2

0 |∆2

ω =

∫
ϕ◦∂2

1 |∆2

ω = 0(
ψ2

)∗
ω = t31dt1 ∧ dt2,

(
ψ3

)∗
ω = t31dt1 ∧ dt2

よって、
∫
ϕ◦∂2

2 |∆2

ω =

∫
ϕ◦∂2

3 |∆2

ω =

∫∫
∆2

t31dt1dt2

以上より
∫
ϕ|∆3

dω =

∫
ϕ◦∂2

0 |∆2

ω −
∫
ϕ◦∂2

1 |∆2

ω +

∫
ϕ◦∂2

2 |∆2

ω −
∫
ϕ◦∂2

3 |∆2

ω
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